Bid Tabulation
ITB # 60-19
WAREWASHING/INSTITUTIONAL CLEANING SUPPLIES
Joy McDowell, Buyer

		1. CENTRAL PAPER CO.		CENTRAL PAPER NEGOTIATED PRICE	
ITEM	DESCRIPTION	BIDDER RESPONSE	BIDDER TOTAL	BIDDER RESPONSE	BIDDER TOTAL
	581 cases x cs	\$48.00	\$27, 888.00	\$48.00	\$27, 888.00
1. MACHINE DETERGENT, 4/1 GAL. (Spartan #8260527) or approved equal	State dilution ratio per 10 gallons of water	6 mls	, , , , , , ,	,	, , , , , , , , , , , , , , , , , , , ,
Shipped in plastic container that becomes a part of the dispenser. No measuring or pouring; dispensed through activator which is	State use cost per gallon of solution	0.0015			
activated by a sensor control 4/9 lb.	Name of Your Mfg. & Product Number(s)	S # 0250527			
	18 cases x cs	Spartan # 8260527 \$60.00	\$ 1, 080.00	\$60.00	\$ 1, 080.00
2. MACHINE DETERGENT-, 5 GAL (Spartan #8260528) or approved equal	State dilution ratio per 10 gallons of water	6 mls	<i>γ</i> = <i>γ</i> = 3 = 3 = 3 = 3 = 3 = 3 = 3 = 3 = 3 =	,	, 5,
Shipped in plastic container that becomes a part of the dispenser. No measuring or	State use cost per gallon of solution	0.0015			
pouring; dispensed through activator which is activated by a sensor control.	Name of Your Mfg. & Product Number(s)	Spartan # 8260528			
	390 cases x cs	\$62.00	\$24,180.00	\$62.00	\$24,180.00
3. RINSE ADDITIVE, 4/1 GAL (Spartan #826531) or approved equal. Concentrated	State dilution ratio per 10 gallons of water	0.0403			
liquid final rinse additive to prevent water spots.	State use cost per gallon of solution	0.004			
	Name of Your Mfg. & Product Number(s)	Spartan #826531			
#826016) or approved equal. Concentrated liquid final rinse additive to prevent water	50 pails x cs	\$78.00	\$3,900.00	\$78.00	\$3,900.00
	State use cost per gallon of solution	0.004	_		
	Name of Your Mfg. & Product Number(s)	Spartan #826016			
5. DELIMER, 4/1 gal (Spartan #826930) or	205 cases x cs	\$43.00	\$8,815.00	\$48.00	\$8,815.00
approved equal. Descaler to remove lime deposits.	State amount to be used to de-lime dish machine (per cycle).	30 oz.			
	Name of Your Mfg. & Product Number(s)	Spartan #826930			

				I	
Stainless or silver flatware liquid pre-soak to	17 cases x cs	\$65.00	\$1,105.00	\$63.00	\$1, 103.00
	State dilution ratio	2 oz per gallon			
	State use cost per gallon of solution	0.2539			
	Name of Your Mfg. & Product Number(s)	Spartan #8260540			
	20 cases x cs	\$38.00	\$760.00	\$38.00	\$760.00
7. GERMICIDAL LIQUID DETERGENT,	State dilution ratio (for use on food services)	2 oz.			
4/1 GAL (Spartan #826241) or approved	State use cost per gallon of solution	0.1484			
equal. Quaternary type.	Name of Your Mfg. & Product Number(s)	Spartan # 8261741			
8. ANTIBACTERIAL HAND SOAP, 4/1 GAL. (Spartan #8261745) or approved	20 cases x cs	\$42.50	\$850.00	\$42.00	\$849.50
equal. Lotion-type cleansing soap for washing	State use cost per gallon of solution	RTU			
hands in food service operations. (Attach Manufacturer's Catalog Sheets)	Name of Your Mfg. & Product Number(s)	Spartan # 8261745			
	50 cases x cs	\$48.50	\$2,425.00	\$48.50	\$2,425.00
9. POT AND PAN DETERGENT, 4/1 GAL.	00 0000011 00	Ţ 10100	+2) 120.00	γ :0:00	
(Spartan #8260535) or approved equal.	State was part and called of calution	0.0234			
Lotionized pot and pan detergent, long-lasting suds, controlled dispensing, harmless to the	State use cost per gallon of solution	0.0234	-		
skin, formulated to cut through grease and	Name of Vous Mfo. & Duodrest Noushou(s)				
penetrate baked on food soils.	Name of Your Mfg. & Product Number(s)	C			
		Spartan #8260535			
10. POT AND PAN DETERGENT, 5 GAL.	40 cases x cs	\$60.00	\$2,400.00	\$60.00	\$2,400.00
(Spartan #8260536) or approved equal.	State use cost per gallon of solution	0.0234			
Lotionized pot and pan detergent, long-lasting suds, controlled dispensing, harmless to the skin, formulated to cut through grease and penetrate baked on food soils.	Name of Your Mfg. & Product Number(s)	Spartan #8260536			
11. STAINLESS STEEL POLISH					
CLEANER, 6/32 oz. spray bottles. Ready To	20 cases x cs	\$39.00	\$780.00	\$38.50	\$779.50
Use (QVS #8193362) or approved equal. Ready to use stainless steel polish and cleaner,	State use cost per gallon of solution	RTU	·	·	·
easy spray and wipe application, safe on all	The state of the s	-	-		
metal surfaces, use on aluminum, copper,	Name of Voya Mfo. & Duoduot Nymbou(s)				
brass, chrome and all types of kitchen	Name of Your Mfg. & Product Number(s)				
equipment.		QVS #8193362			
12. OVEN/BROILER PROTECTIVE					
BARRIER, (QVS #8193381), 6/32 oz.	10 cases x cs	\$32.00	\$320.00	\$32.00	\$320.00
bottles. Ready To Use, or approved equal. Ready to use protective coatings for					
ovens/broilers, forms a protective barrier and	State use cost per gallon of solution	RTU			
prevents food soil from baking, burning,					
sticking to oven or broiler walls, not a cleaner,	Name of Your Mfg. & Product Number(s)				
pretreatment coating, made of 100% food- grade ingredients.	6	2.15.10.10.10.1			
Siddo Ingiodionas.		QVS#8193381			

	T	<u> </u>			
13. POTS AND PANS DISH DETERGENT, 8/38 oz. "DAWN DETERGENT"	50 cases x cs	\$46.50	\$2,325.00	\$46.50	\$2,325.00
(PROCTOR & GAMBLE #725705 or	State use cost per gallon of solution	0.0153			
non-ionic wetting agents, heavy duty, non-	Name of Your Mfg. & Product Number(s)	Proctor & Gamble #725705			
14. DEGREASER, 12/1 QT, "FIREBALL" (BRIGHT SOLUTIONS #8061010) or	64 cases x cs	\$38.00	\$2,325.00	\$38.00	\$2,325.00
approved equal. Ready to use, emulsifies carmelized grease and grime on equipment,	State use cost per gallon of solution	RTU			
exhaust hoods wents etc. special blend	Name of Your Mfg. & Product Number(s)	Bright Solutions #8061010			
	50 cases x cs	\$42.00	\$2,100.00	\$42.00	\$2,100.00
15. HEAVY DUTY FLOOR CLEANER, 4/1 GAL. "TOUGH ON GREASE" (SPARTAN	State use cost per gallon of solution	0.164			
#826410) or approved equal.	Name of Your Mfg. & Product Number(s)	Spartan #826410			
44 0114 7 9 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	60 cases x cs	\$61.00	\$3,660.00	\$61.00	\$3,660.00
16. QUAT SANITIZER, 4/1 GAL. (Spartan #8260405) or approved equal. Multipurpose quaternary sanitizer that can be used in a 3-	State use cost per gallon of solution	0.0297			
compartment sink or on all food service surfaces.	Name of Your Mfg. & Product Number(s)	Spartan #8260405			
17. QUAT SANITIZER, 5 GAL. (Sparclean	58 cases x cs	\$75.00	\$4,350.00	\$75.00	\$4,350.00
#8260406) or approved equal. Multipurpose quaternary sanitizer that can be used in a 3-compartment sink or on all food service	State use cost per gallon of solution	0.0292			
surfaces. (Attach Manufacturer's Catalog Sheets)	Name of Your Mfg. & Product Number(s)	Spartan #8260406			
18. OVEN CLEANER, 12/32 oz. BLAST	20 cases x cs	\$40.00	\$800.00	\$40.00	\$800.00
AWAY, (BRIGHT SOLUTIONS #8060940) or approved equal. Ready to use grill-oven	State use cost per gallon of solution	RTU			
	Name of Your Mfg. & Product Number(s)	Bright Solutions #8060940			
approved equal. Enzyme floor cleaning	20 cases x cs	\$60.00	\$1,200.00	\$60.00	\$1,200.00
	State use cost per gallon of solution	0.2347			
	Name of Your Mfg. & Product Number(s)	Spartan #8260545			

		-			
20. HEAVY DUTY BIOLOGICAL FLOOR	20 cases x cs	\$72.00	\$1,440.00	\$72.00	\$1,440.00
product that attacks the grease and eliminates	State use cost per gallon of solution	0.23			
	Name of Your Mfg. & Product Number(s)	Bright Solutions #8260546			
21. DEGREASER, "ORANGE PUNCH" 4/1 GAL. (BRIGHT SOLUTIONS	20 cases x cs	\$45.00	\$900.00	\$45.00	\$900.00
#8060205) or approved equal. Streak free multi surface cleaner with pleasant orange	State use cost per gallon of solution	0.088			
fragrance.	Name of Your Mfg. & Product Number(s)	Bright Solutions #8060205			
22. LAUNDRI DETERGENT, 45-55 lb box, "LEMON LAUNDRY" (BRIGHT	20 cases x cs	\$49.50	\$990.00	\$49.50	\$990.00
SOLUTIONS # 8061771) or approved	State use cost per gallon of solution	0.3713			
equal. Powdered laundry detergent that can be used in home-style type machines.	Name of Your Mfg. & Product Number(s)	Bright Solutions #8061771			
	30 pails x cs	\$2.75	\$\$82.50	\$2.75	\$\$82.50
23. RED SANITIZING PAIL, 3/4 GAL. (#683055) *SOLD INDIVIDUALLY*	State use cost per pail	\$2.75			
	Name of Your Mfg. & Product Number(s)	Impact #683055			
24. RED SANITIZING PAIL, 1 1/2 GAL.	30 pails x cs	\$4.25	\$127.50	\$4.25	\$127.50
(# 683056) *SOLD INDIVIDUALLY*	State use cost per pail Name of Your Mfg. & Product Number(s)	4.25 Impact #683056	-		
of ODDEN GANGEIZING DAM A CAL	30 pails x cs	\$5.00	\$150.00	\$5.00	\$150.00
25. GREEN SANITIZING PAIL, 2 GAL. (#683058) *SOLD INDIVIDUALLY*	State use cost per pail	\$5.00			
	Name of Your Mfg. & Product Number(s)	Impact #683058			
20. METAL SAFE WAKEWASHING	30 cases x cs	\$61.00	\$1,830.00	\$61.00	\$1,830.00
DETERGENT, 4/8 LB (SPARTAN	State use cost per 10 gallons of solution	0.0298			
#826002) or approved equal.	Name of Your Mfg. & Product Number(s)	Spartan #826002			
27. PINE CLEANER, 4/1 GAL, "NEUTRAFECT" (BRIGHT SOLUTIONS	30 cases x cs	\$49.50	\$1,485.00	\$49.50	\$1,485.00
# 8060530) or approved equal. For cleaning all hard surfaces not harmed by water. Cleans	State use cost per gallon of solution	0.1934			
and deodorizes floors, walls, toilets, urinals, etc. No rinse formula. Fresh pine fragrance. Color: Orange	Name of Your Mfg. & Product Number(s)	Bright Solutions #8060530			
28. RECIRCULATING WASH SINK POT	20 cases x cs	\$52.00	\$1,040.00	\$52.00	\$1,040.00
AND PAN DETERGENT, 5 GAL.					
(SPARTAN # 8260536) or approved equal. A stable foaming pot and pan detergent	State use cost per gallon of solution	0.0203			
specifically designed for use in recirculating	State and cont per garion of notation	0.0203	_		
agitation pot and pan wash sinks. It combines					
	Name of Your Mfg. & Product Number(s)				
action with an optimally designed sudsing					
profile.		Spartan #8260536			

29. CLEAN BY PROXY, 4/1 GAL,	20 cases x cs	\$49.50	\$990.00	\$49.50	\$990.00
(SPARTAN #826014) or approved equal.	State use cost per gallon of solution	0.0966	·		
For cleaning all hard surfaces not harmed by					
water. Cleans and deodorizes floors, walls,	Name of Your Mfg. & Product Number(s)				
toilets, urinals, etc. No rinse formula. Fresh	ivanie of Tour Wilg. & Hoddet ivanioei(s)	S			
pine fragrance. Color: Orange.		Spartan # 826014	40.000	4.00.00	40.000.00
30. DELIMER CARE TABLET FOR	30 buckets x cs	\$130.00	\$3,900.00	\$130.00	\$3,900.00
COMBI OVENS, 150/BUCKET, (#905562)	State use cost per gallon of solution	RTU			
or approved equal. Ready to use.	Name of Your Mfg. & Product Number(s)	Rational #905562			
31. COMBI CLEANER TABLETS	30 buckets x cs	\$87.50	\$2,625.00	\$87.50	\$2,625.00
150/BUCKET, (#905210) or approved	State use cost per gallon of solution	RTU			
equal. Ready to use.	Name of Your Mfg. & Product Number(s)	Rational #905210			
22 COMPLENINGE AID TARRETT	30 buckets x cs	\$87.50	\$2,160.00	\$72.00	\$2,160.00
32. COMBI RINSE AID TABLETS, 50/BUCKET (#905211) or approved equal.	State use cost per gallon of solution	RTU			
50/BUCKET (#905211) or approved equal.	Name of Your Mfg. & Product Number(s)	Rational #905211			
33. ENCAPSULATED METAL SAFE	30 cases x cs	\$68.00	\$2,040.00	\$68.00	\$2,040.00
MACHINE DETERGENT, 4/8 LB, (State use cost per gallon of solution	0.0465			
Spartan #8060580) or approved equal.	Name of Your Mfg. & Product Number(s)	Spartan #826001			
	30 cases x cs	\$15.50	\$465.00	\$15.50	\$465.00
34. COMBI RINSE-LIQUID, 2.5 GAL,	State use cost per gallon of solution	RTU	·	·	·
(Spartan #826915) or approved equal.	Name of Your Mfg. & Product Number(s)	Spartan #826915			
	30 cases x cs	\$54.00	\$1,620.00	\$54.00	\$1,620.00
35. COMBI CLEANER-LIQUID, 2.5 GAL,	State use cost per gallon of solution	RTU	7-/0-0.00	P	+ -/
(ECOLAB # 38655300) or approved equal.	Name of Your Mfg. & Product Number(s)	Ecolab #8655300			
		Total:	\$114, 415.00	Negotiated total:	\$114, 361.00
REQUIRED FORMS:					
Notification of Intent to Respond		X			
Non-Collusion Affidavit		х			
Affidavit of Contractor/E-Verify		х			
EEOC Statement		х			
Debarment Statement		х			
Signature Page		х			
Price Sheet		Х			
CONTACTS:					

581 cases x cs
State use cost per gallon of solution
Name of Your Mfg. & Product Number(s)
581 cases x cs
State use cost per gallon of solution
Name of Your Mfg. & Product Number(s)
581 cases x cs
State use cost per gallon of solution
Name of Your Mfg. & Product Number(s)
581 cases x cs
State use cost per gallon of solution
Name of Your Mfg. & Product Number(s)